S5x(x + 2)

Pre vion s Anewean:
x—6

' 2x +10  x% —3x

X2+ 2x — 15 6x — 4

x(x+1)(x —4)
3x + 2

Pre vion s Anewer:

* 2x3 4 8x2 x4+ x—6
:x2+3x—10 x3+7x2+12x:







2(x + 6)

Pre vion s Anewean:
2x — 5

* x2 4+ 3x — 28 Cx% +4x —21
x2—-2x—8  9x —27

Previous Anewer; 1

3x% — 15x | x4 — 25
6x3 —3x2 4x?2 -1




- X

3x% + 2x

-5

" x24x—20




X

Provions Anewes; Y=

. x“—x—6 4x*—4x

4x2 + 8x x% —4x + 3

9

Previons Anewer;
X+ 2

2x*+x—3 x?—x—20
x3 —x2  3x3 —15x2




2x + 1
x(x +5)

Previons Anewen:
5x% 4+ 10x 3x%—10x — 8
x2—9x  x?2-—13x+ 36

2X

Previovs Anewes;
x+5

> x2-16  2x24+10x — 12
= 2x24+3x—20 x2—5x+4




